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If you agree with »''9, etc. - 591D TIRR 9292 77 K20 ON

OVERVIEW

The X n3 stated that »"7 agrees with the ruling of 7" that 1202w WWw2a 77N
m»pH ¥R, It is this ruling that justifies the ruling of »n"9 that o°mxr1 PX. It
would seem that 7" would also agree with »" that 22181 Px.! Therefore 1"
chided 7"9 and told him why are you citing this statement as if everyone
agrees with it.” This is merely the opinion of "3, and therefore you should
clearly state that you support the view of n"3. Our mpoIn discusses and
rejects a possible response from 7"1.

nooIn asks:
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And if you will say; that perhaps the reason that X137 27 did not state

clearly that the 572957 is according to »''" —
= 19299 99NN 299 729197 (0w 3,17 xIna xa3) DAY 2 P92 NIINT DIVYN

because in n»w s» P99 there are those who invert the opinion of »''9 to the

opinion of the j129. That opinion maintains that the 1121 claim that 2> 1°X and 7"
maintains 0°1R81. Therefore X117 27 could not have stated n"93 73357, for we would not
know for certain whether he means the n"9 of 0°14KX1 7°X or the n"1 of 0°aK1. That is why
"1 chose to state clearly that 1%°°p% ¥"X 1202w wwa 77%. Why was 1211 27 chiding him
that 7" should clearly say that he agrees with n"?

N1B0IN answers:
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And one can say that 3"7 could have said that the ;1257 is like 3''aw= —
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Who clearly maintains in the first P75 of »''2 that if the M™% admits that
he wrote the =uvw, the MY is not obligated to authenticate it>.

SUMMARY
When 1" said that 7"1 should have said n"13 79%7 he meant that 7"9 could
have mentioned a(ny) &i1n who clearly maintains 7"¥Xw21; namely 3"2w".

' See following ®»°X 71"7 201, which will explain how there can be such an assumption.

* See Xan 7"7 "0,

? 1" maintains that the proper X0 is that »"A states 1K1 PX. If 7" is concerned because there is a X077
that " states 02183, 7"7 could have said 3"2w13 7577. See ‘Thinking it over’.
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THINKING IT OVER
Why did not 1" argue initially that 7" should say 3"2w13 729721

* See p"now.
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